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1) TRADE THEORY

Question No. 1/ Question ID 69
What is the name of the part marked as 'x' shown in the figure?

o # fezame mu x § fRfgd Wi o1 A @ g

(A) O Bronze guide (Correct Alternative)
B S S (Correct Alternative)
(B) O Stone
TH

Marks: 2.00




(C) O Expanding body
o= e

(D) O Universal joint (Chosen Option)
:C (Chosen Option)

www.globaliti.org

Question No. 2 / Question ID 114
What is the name of the bearing shown in the figure?

for 7 feame 7w faafe &1 A 872

(A) O Self aligning bush bearing (Correct Alternative)
TR Ed g1 9°RAT (Correct Alternative)
(B) ©O Bush bearing (Chosen Option)
R ST (Chosen Option)
(C) O Solid bearing
3 3R
(D) © Plain bearing
R

Marks: 2.00

Question No. 3 / Question ID 257
What is the name of the valve symbol shown in the figure?

o o quifu ¢ aTeg forg 1 71 T 87

Marks: 2.00




www.globaliti.org

(A) O 3/2 way valve (Correct Alternative)
3/2 3 9red (Correct Alternative)

(B) O 5/2 way valve
5/2 d dled

(C) O Directional control valve (Chosen Option)
fa=maT® fA5=01 aTed (Chosen Option)
(D) O Flow control valve

Yarg a3 are

Question No. 4 / Question ID 243 Marks: 2.00

Which device in pneumatics is used for converting pressure energy of compressed air into mechanical
energy?

Mgﬁﬁ%wmsﬂnﬂ%amﬁwﬁaﬁwmﬁmﬁawasmm
ST 672
(A) O Regulator

(B) O Cylinder (Chosen Option)
IR (Chosen Option)
(C) O Pneumatic actuators (Correct Alternative)

JAfe® Taeguex (Correct Alternative)

(D) O Filter

Question No. 5/ Question ID 17 Marks: 2.00

Which file that has sharp and parallel teeth is used on soft and non-metallic materials?
Y 3R IR U1 ARTA R SHATE fHT O a1d oot iR FHFIR gidl 9 Hed J 81d 82
(A) O Tinker file

fEmR wiga
(B) O Dread naught file (Correct Alternative) (Chosen Option)

%3 qle PTgd (Correct Alternative) (Chosen Option)
(C) O Warding file

IRV IEN]




(D) O Pillar file
fOeR wrgd

www.globaliti.org

Question No. 6 / Question ID 228

Which gear transmits power between intersecting shafts at right angles?

P IT TR U0 IR Ufd=de B Il MU & S Xfad TaTd Bl 872

(A) O Bevel gear (Correct Alternative)
(Correct Alternative)
(B) O Spurgear
popy
(C) O Screw gear (Chosen Option)
h TR (Chosen Option)
(D) O Worm gear
H firR

Marks: 2.00

Question No. 7 / Question ID 27
What is the use of riffler's file?
RUER WTgdl &1 SUART &1 572
(A) O Silversmith work (Correct Alternative)
Rreaxfery o1l (Correct Alternative)
(B) O Lock repair (Chosen Option)
dIefl HXHd (Chosen Option)
(C) O Mould - making work
Hies - AfdT Hrd
(D) O Finishing sharp corners
BT DIl P T BT

Marks: 2.00

Question No. 8 / Question ID 13
What is the name of the nut shown in the figure?

for 7 feamu 71U Fe &1 AW T |2

Marks: 2.00




www.globaliti.org

(A) O Castle nut (Correct Alternative)
c (Correct Alternative)
(B) O T-Nut
T-4¢

(C) O Cap nut (Chosen Option)
&Y e (Chosen Option)
(D) O Slotted nut
qc

Question No. 9 / Question ID 59 Marks: 2.00
What is the name of the slip gauge grade used for inspection?
fSteror & fore vged &y S I &1 91 Fa1 82
(A) O Grade '00'

IS "00"
(B) O Grade Il (Chosen Option)
TS "I" (Chosen Option)
(C) O Gradel
PERK
(D) O Grade '0' (Correct Alternative)
"0" (Correct Alternative)

Question No. 10 / Question ID 205 Marks: 2.00




What is the name of the clutch shown in the figure?

fort & fa=aTe 7T Ferw &1 A T 87

(A) O Cone clutch
DI T

(B) O Dog clutch (Correct Alternative)
ST g (Correct Alternative)

(C) O Single plate clutch (Chosen Option)
R wie aard (Chosen Option)

(D) O Air clutch
UYX el
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Question No. 11 / Question ID 254
What is the name of the part marked as ‘x’ shown in the figure?

o # fezame 7w % @ fRIfgd HmT 1 W T 82

Marks: 2.00




(A) O Disc hinge nut
fgn e

(B) O Disc
5552

(C) O Hinge pin
gt o

(D) O Stop plug (Correct Alternative) (Chosen Option)
¥CTT W (Correct Alternative) (Chosen Option)

www.globaliti.org

Question No. 12 / Question ID 72
Which process refines the structure of steel component?

DI I UlhaT T gedh B URTHT B URSHd Bl 72
(A) O Hardening
RS

(B) O Normalising (Correct Alternative)
T [T (Correct Alternative)
(C) O Tempering (Chosen Option)
(Chosen Option)
(D) O Annealing

Marks: 2.00




Question No. 13 / Question ID 282 Marks
What is the purpose of lubricant? WWW. g[Obai)ltl org
TP BT I FT 872
(A) O Increases the loading capacity

ST & P deTdl §
(B) O Increases the speed moving elements
T Il &1 IGIT §
(C) O Increases friction
P! IEIaT 8
(D) O Reduces friction (Correct Alternative) (Chosen Option)
DH HIdl % (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 292 Marks: 2.00
What is the term for that time during which the machine runs automatically without manual intervention?
3 O B! T Hed § o gR TR a1 faselt Ardia geaay & waanferd %9 ¥ It 82
(A) O Total cycle time

P deh JHY
(B) O Over all cycle time
Tt = THg R
(C) O Machine cycle time
déh p JHY
(D) O Auto cycle time (Correct Alternative) (Chosen Option)
el g Iy (Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 105 Marks: 2.00
Which bearing is used in the limited bearing space?

i foafer wim 7 fory foafar &1 Suan fasar s g2
(A) O Taper roller bearing

(B) O Needle bearing (Correct Alternative)
(Correct Alternative)
(C) O Thrust ball bearing (Chosen Option)
e didt foafiar (Chosen Option)
D) O Angular contact ball bearing
TR FHIeae aid foaiT

Question No. 16 / Question ID 43 Marks: 2.00
Which one forms the hypotenuse of the trlangle while checking with sine bar?
12 IR & 1Y Sd Hd AT DI FAYSI(CRTE) HT BT ST 872
(A) O Surface plate (Chosen Option)
WhY Tic (Chosen Option)

(B) O Slip gauges height
ECREEAREIH

(C) O Sine bar length (Correct Alternative)
TTEq IR P 4TS (Correct Alternative)
(D) O Sine bar width
TE IR B AIeTs

Question No. 17 / Question ID 299 Marks: 2.00




Which document used to authorize and instruct the work team to take a production work?

3G BT B %mmmﬁmmﬁﬁﬁﬁ$WWWWW|%§mﬁbrg

(A) O Process chart
BEDIEIC

(B) O Job card (Correct Alternative)
EICKgE] (Correct Alternative)

(C) O Inspection report (Chosen Option)
fAteror faid (Chosen Option)

(D) O Productivity report
RICICEIRREI

Question No. 18 / Question ID 305 Marks: 2.00
What is the name of the crane shown in the figure?

o & femame 7 5 &1 AH R B2

(A) O Pillar jib crane (Correct Alternative) (Chosen Option)
ISCE & (Correct Alternative) (Chosen Option)
(B) O Gantry crane
DRk

(C) O Travelling crane
7T shel

(D) O I%racket jib crane
sifere fore o

Question No. 19 / Question ID 127 Marks: 2.00




Which metal powder is used in calorizing process to prevent corrosion?
ST 1 Ap & foIe FarmgioiT ufshar & ford U1g & Urss) &1 I far S
(A) O Chromium powder

Urds
(B) O Zinc powder (Chosen Option)

ISERCICERN (Chosen Option)
(C) O Aluminium powder (Correct Alternative)
UT3 SR (Correct Alternative)
(D) O Nickel powder
Urdse

?K/ww.globaliti.org

Question No. 20 / Question ID 98 Marks: 2.00
What is the name of the bearing shown in the figure?

forr & feame 7w fyafee &1 9 T 82

(A) O Angular contact ball bearing
TR FIede aid faafa
(B) O Taper roller bearing (Chosen Option)
R foafT (Chosen Option)




(C) O Thrust ball bearing
Y i
(D) O Needle bearing (Correct Alternative)
(Correct Alternative)

www.globaliti.org

Question No. 21 / Question ID 165 Marks: 2.00
What is the purpose of setting blocks in fixture?
fheRTeR # i1 T BT ST AT 82
(A) O To position the clamp and locators
FaiT 3R drber P Rufa & RaA
(B) O To position the balancing weight (Chosen Option)
g YR B RR4fT & @ (Chosen Option)
(C) O To position the work related to cutter (Correct Alternative)
P I afea o1d &1 AT T T@AT (Correct Alternative)

(D) O To position the fixture on machine table

A ¢od IR e &1 fufa J @

Question No. 22 / Question ID 78 Marks: 2.00
Which structure of steel contain 0% carbon?
W P b =T H 0% HTe Blal 872
(A) O Pearlite (Chosen Option)
(Chosen Option)
(B) O Cementite

(C) O Austenite

(D) O Ferrite (Correct Alternative)
(Correct Alternative)

Question No. 23 / Question ID 200 Marks: 2.00
Which coupling prevents relative motion between two shafts?
DI T HUICHT &l ~TH! & aTd ATUE Tl BT Achal 52
(A) O Rigid coupling (Correct Alternative)
1T (Correct Alternative)
(B) O Clamp coupling
&Y FHafer

(C) O Safety coupling (Chosen Option)
T Ul (Chosen Option)
(D) O Universal coupling
HYfT

Question No. 24 / Question ID 68 Marks: 2.00
What is the name of the operation that corrects the profiles of cylindrical surfaces and removes taper?
I SR T 11 71 g o SR el B MBS Pl Te! dl § 3R SR &I geldl 82
(A) O Grinding

B) O Regming




(C) O Honing (Correct Alternative)
[T (Correct Alternative)
(D) O Boring (Chosen Option)
(Chosen Option)
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Question No. 25 / Question ID 141
What is the name of the pipe line symbol shown in the figure?

o & <iiu 77U ursy A8 Udie &1 719 w1 87

(A) O Socket
Hlhe

(B) O Reducer concentric (Correct Alternative)
(Correct Alternative)
(C) O Union screwed
RIERERC
(D) O Plug or cap (Chosen Option)
R 1 e gt (Chosen Option)

Marks: 2.00

Question No. 26 / Question ID 275
What is the name of the lubrication system shown in the figure?

o o quifs 7S W YuImel &1 =19 1 82

Marks: 2.00




www.globaliti.org

(A) O Hand pressure feed
88 "R

(B) O Wick feed (Correct Alternative)
firs (Correct Alternative)
(C) O Splash feed (Chosen Option)
IS (Chosen Option)
(D) O Ring oiling feed
& 3ifgfein wis

Question No. 27 / Question ID 318 Marks: 2.00
Which crane is mounted at the base and is supported by the bearing plate at top?

DI BT YR W T Bt § 3R M W fulr wie grr wufid gidi 82

(A) O Derrick crane

(B) O Jib crane (Correct Alternative) (Chosen Option)
IGCE & (Correct Alternative) (Chosen Option)
(C) O Floor crane

(D) O Gantry crane
DRIkl

A

Question No. 28 / Question ID 218 Marks: 2.00




How hydraulic transmission force is controlled?
gESIfcie iR 90 &Y fdfa grar g2
(A) O Byair
GEIR
(B) O By gears (Chosen Option)
ﬁlﬂﬁm (Chosen Option)
(C) O By electric
RERCEW
(D) O By fluids (Correct Alternative)
TR YTl GRT (Correct Alternative)
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Question No. 29 / Question ID 95 Marks: 2.00
What is the name of the gauge shown in the figure?

o & femame 7 A o1 A =1 82

(A) O Taper ring gauge (Correct Alternative)
f&ar (Correct Alternative)
(B) O Thread plug gauge
IS T Il

(C) © Snap gauge (Chosen Option)
| (Chosen Option)




(D) O Ring gauge
TR st www.globaliti.org

Question No. 30 / Question ID 80 Marks: 2.00
What is the purpose of annealing?
TR &1 IERT FT 82
(A) O To add cutting ability
HTcH P &HT e & forg
(B) O To refine the grain structure of the steel
LI D U9 TRAT DI RB1eT B & g
(C) O To soften the steel (Correct Alternative)

WA P TRAPIA B m (Correct Alternative)
(D) O To increase wear resistance (Chosen Option)

o o ufoRty &1 am%r & W Chosen Option)

Question No. 31 / Question ID 146 Marks: 2.00
What causes water dripping from the tap even after it is closed?
A 9 B & 91t 7 I U TS BT T HRUT g2
(A) O Spindle thread wornout

' forg S
(B) O Bend spindle
fRied &1 g8 S
(C) O Loose valve
GGG
(D) O Defective washer (Correct Alternative) (Chosen Option)
IR (Correct Alternative) (Chosen Option)

Question No. 32 / Question ID 177 Marks: 2.00
Which type of belt is used if the distance between the shafts are too short?

IS e & o B g3l 9gd HH &, dl fhd UBR Pi dee B IGANT foham ST 87
(A) O Elﬁaébelt

(B) O Ribbed belt
¥eg dee
(C) O V’ belt (Correct Alternative) (Chosen Option)
\VAC [ (Correct Alternative) (Chosen Option)
(D) O Link belt

Question No. 33 / Question ID 239 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

o & famme e X ¥ ffgd WM &1 AW R 82
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(A) O Seal

(B) O Spring
i

(C) O Piston (Correct Alternative)
(Correct Alternative)
(D) O Cylinder (Chosen Option)
'S (Chosen Option)

Question No. 34 / Question ID 143 Marks: 2.00
What is the name of the part marked as 'x' shown in the figure?

o # fezame mu x § Rfgd UM e A R g

(A) O Guide rollers
TS A




(B) O Adjusting screw
K3
(C) O Cutter wheel (Correct Alternative) (Chosen Option)
P @H (Correct Alternative) (Chosen Option)
(D) O Hand lever

www.globaliti.org

Question No. 35/ Question ID 208
Which type of drive is shown in the figure?

7 | fog usR &1 <ITaT T 87

(A) O Right angled drive

EIEE
(B) © Open belt drive

3T dec gIed
(C) O Cross-belt drive (Correct Alternative) (Chosen Option)
PHIY-dcT $I%d (Correct Alternative) (Chosen Option)
(D) O Stepped drive

XS ged

Marks: 2.00

Question No. 36 / Question ID 53

What is the height of slip gauge (q = 25° = 0.4226)?
=9 &Y T &1 TS Bt 82(0 =25 © = 0.4226)

Marks: 2.00
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(A) O 43.26
43.26

(B) O 41.26 (Chosen Option)
41.26 (Chosen Option)

(C) O 44.26
44.26

(D) O 42.26 (Correct Alternative)
42.26 (Correct Alternative)

Question No. 37 / Question ID 29 Marks: 2.00
What is checked using a template?
SITIC BT SUTNT HReb T ST STl 82
(A) O Diameter of shaft
UL ARSI
(B) O Pitch of holes

(C) O Hole size
BId BT DR
(D) O Contour profile of a workpiece (Correct Alternative) (Chosen Option)

3| He E'ﬁTFI?EI (Correct Alternative) (Chosen Option)




Question No. 38 / Question ID 178
How the tension of belt between two fixed pulleys are adjusted?
3l RR Yeeht & o9 dee &1 d1d &Y JHIESId foedT STl 872
(A) O By sliding the pulley (Chosen Option)
gedi! Bl W3S HRab (Chosen Option)
(B) O By adjusting the screw of pulley
Gl o &P Dl TSORE Iy
(C)O By adjustlng the length of beIt
dct Gl Q'1®|I$ ﬁ Usuic PP

(D) O By fixing idler pulley (Correct Alternative)
&IE'QT W &I fhag dvh (Correct Alternative)

WWW “S‘fésbaﬂu org

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 324

What is the purpose of a lubricant?

TP BT I FT 872

(A) O To reduce pressure
GaTd Dl HH B & [T

(B) O To increase friction (Chosen Option)
YT B EIE'Ief & forg (Chosen Option)

(C) O Toincrease the pressure
<919 g & o

(D) O To reduce friction (Correct Alternative)

TYUT B HH B & foIT (Correct Alternative)

Marks: 2.00

Question No. 2 / Question ID 334
What are the various stages of heat treatment?
W1 SUER & fafi= =R0r a1 82
(A) O Heating, Cooling and Quenching

(C) O Quenching, Cooling and Heating
GafeiT, e R gifeT

(D) O Soaklng Quenchlng and Cooling
i, FdfeT

3R BT

Marks: 2.00

(B) O Heating, Soaking and Quenching (Correct Alternative) (Chosen Option)
ﬁﬁ'ﬂ, T 3R Fd =T (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 330
Which line is called as chord?

I I TS 1 ST BT SIIell 82

Marks: 2.00




(A) O OE
OE

(B) O AB (Correct Alternative) (Chosen Option)
AB (Correct Alternative) (Chosen Option)
(C)O OD
oD
(D) O ED
ED

www.globaliti.org

Question No. 4 / Question ID 325
Which is used to reduce the friction in machine parts?

T U & IS0 T HH B P foIU fhgepT IuaNT fovan Sirdr 872

Marks: 2.00




(A) O Petrol (Chosen Option)
a@F‘l (Chosen Option)
(B) O Lubricants (Correct Alternative)
(Correct Alternative)
(C) O Kerosene
foret &1 dd
(D) O Water

www.globaliti.org

Question No. 5/ Question ID 322
What is the direction of frictional force against a motional object?
foralt iR avq & favs avor 9o 1 o= &1 57
(A) O Opposite to the object (Correct Alternative)
a¥q & A (Correct Alternative)
(B) O Perpendicular to the object
I o dEad
(C) O Inclined to the object
e
(D) O Parallel to the object (Chosen Option)
¥ o JHIGR (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 329
What is the formula for area of the circle?

I & &A%d & fod JF T 82

Marks: 2.00




(€) O

(A)O I

(Chosen Option)
(Chosen Option)

www.globaliti.org




(D) O

(Correct Alternative)

(Correct Alternative)

www.globaliti.org

3) ENGINEERING DRAWING

(A) O
(B) O
€)O
(D) O

Question No. 1/ Question ID 362
GMAW stands for
GMAW & 1T &1 g

Gun Metal Arc Welding
Gun Metal Arc Welding

Germanium Metal Arc Welding
Germanium Metal Arc Welding

Gas Tungsten Arc Welding (Chosen Option)
Gas Tungsten Arc Welding (Chosen Option)

Gas Metal Arc Welding (Correct Alternative)
Gas Metal Arc Welding (Correct Alternative)

Marks: 2.00

(A) O
(B) O
(€) O
(D) O

Question No. 2 / Question ID 363
CPRF stands for
CPRF &1 Addd ©

Connected Pile Round Foundation
Connected Pile Round Foundation

Combined Pile Raft Foundation. (Correct Alternative)
Combined Pile Raft Foundation. (Correct Alternative)
Corrosion Proof Raft Foundation
Corrosion Proof Raft Foundation

Combined Plain Round Foundation (Chosen Option)
Combined Plain Round Foundation (Chosen Option)

Marks: 2.00

N

(A) O
(B) O

(€) O

Question No. 3 / Question ID 342
Rivets are generally, specified by

A AR

R gRIPRE o 3

length of rivet

diameter of head

S BT AT

nomlnal diameter (Correct Alternative)

SR (Correct Alternative)

(D) O all of these (Chosen Option)
T et (Chosen Option)

Marks: 2.00

(B) O

Question No. 4 / Question ID 361
Which nut can be easily operated with thumb and finger?
O 378 SR STTelt T ST § Tanferd foran ST o 872
(A) O Wing nut (Correct Alternative)

c (Correct Alternative)
Dome nut

SLEG
(C) O Capstan nut

Ac

Marks: 2.00




(D) O Lock nut (Chosen Option)

il =€ (Chosen Option) www.globaliti.org

Question No. 5/ Question ID 356 Marks: 2.00
This type of section is limited by a break line__
I UHR BT U TH S e FRESIECE]
(A) O removed section
BT T SHJHIT

(B) O broken-out section (Correct Alternative) (Chosen Option)
¢ CI-g3IT SIJHIT (Correct Alternative) (Chosen Option)
(C) O half section
ST S{JHNT
(D) O revolved section.

RYHUN S{FUNT

Question No. 6 / Question ID 355 Marks: 2.00
Which symbol is used for lap joint?

AU Sige & fore fopg Rige &1 uaiT faan o g2
(A) O

(B) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




(€)O

(D) O
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4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 428
is influenced by rapid change in technology
TNt & Toll ¥ 9Gard 9 gHTad
(A) O Nature of work (Chosen Option)
P DI Wﬁf (Chosen Option)
(B) O Future of work (Correct Alternative)
&1 UfAS (Correct Alternative)
(C) O Workforce
HRITA

(D) © Working capital
SRR g

Marks: 2.00

Question No. 2 / Question ID 423

Marks: 2.00




Which of the following statements shows good teamwork?

PRI H 8 1 1 e Sl <8 T 1 el 7 www.globaliti.org
(A) O Keeping all ideas to yourself
IR fIAR 30 deb g1 ifd @1
(B) O Criticizing teammates' efforts
9 & Il & TR bl STl BT
(C) O Ignoring others' ideas and opinions
TIRI & faaRT 3R G P ToRSHES HIAT
(D) O Working together towards a common goal (Correct Alternative) (Chosen Option)
Uh HHI d&d 31 fe=m A ey &9 S (Correct Alternative) (Chosen Option)

Question No. 3/ Question ID 424 Marks: 2.00
Which of the following is required for teamwork?

&1 9% & fore Fafied & 3 1 smavas 52
(A) O Easy tasks
S CRep
(B) O Proper communication (Correct Alternative)

IRId SRS (Correct Alternative)

(C) O Conflict and Argument
Hiae 3R HH

(D) © Money (Chosen Option)
(Chosen Option)

Question No. 4 / Question ID 378 Marks: 2.00
Gestures, facial expressions, eye contact are examples of
SRR, RIS TRTURM, TS Hicde % ICTERUI |

(A) O oral communication
3R HRAHRMA
(B) O non-verbal communication (Correct Alternative) (Chosen Option)
A9-add mﬁ%ﬂ? (Correct Alternative) (Chosen Option)
(C) O written communication
e FgfAHRH
(D) O verbal communication
Jad HRFHR

Question No. 5/ Question ID 514 Marks: 2.00
What is a job portal?
SIiq Uied o1 87
(A) O A website where companies post jobs and people can search and apply for them (Correct
Alternative)

(Correct Alternative)
(B) O A special room where job interviews happen online

TS IR IR 915t A1 & fTE WETH R A Bid &
(C) O Abuilding where you go to find work (Chosen Option)

U Wt fAfeET S8t 39 &1 g Sd § (Chosen Option)
(D) O A place where you can play games and talk to friends

T SIVIE W8T 310 TH W Tohd & 3R SRal I 91 B Tbd §

Question No. 6 / Question ID 557 Marks: 2.00




Which of these situations show people working well together as a team?
ﬁ@ﬁﬁ%ﬁﬁwﬁ%wﬁ%wmmﬁ@m% "
. | ww.globaliti.org

(A) O One person doing all the work without any help from team members

TP o ¢IH & Tawl &1 Ferad & o1 94t 1 R ¥e1 8
(B) O All are working without discussing each other

Tt Uh-gI 9§ T U T prH PR R §
(C) O Agroup sharing ideas and listening to each other (Correct Alternative) (Chosen Option)

U dYg o foeamr TAT ddT % 3R Udh §'\‘ﬁ' Ca| gAdT % (Correct Alternative) (Chosen Option)
(D) O Two people arguing and not agreeing

3 AT 5T R B § 3R WA TR IR §

Question No. 7 / Question ID 553 Marks: 2.00

What does working well together mean?

TS WY ST HTH B BT 7] HATT 872

(A) O Not doing any mistakes
IS Tl g1 AT AT

(B) O Participate get-together
B GARIE § YR 1 AT

(C) O Sharing ideas, listening, finding solutions together (Correct Alternative) (Chosen Option)
AR AT SR, AT, 91y fAa®: GHIUT @IS 91f@¢ (Correct Alternative) (Chosen
Option)

(D) O Be friendly with all

T 1Y AU HAER HRAT A6

Question No. 8 / Question ID 519 Marks: 2.00
While applying for a job through email, what are the documents need to be attached?
ST & TTEH I Idxt & fOTE S1de- HXd JHT, B I SgHCH Tad B & SaIHdl 672
(A) O Resume, Course and Training Certificates (Correct Alternative)
STASTel, B 3T ufRreror yHTOTTS (Correct Alternative)
(B) O Birth certificate
o YHTOTOA
(C) O Photographs from childhood
U B1 BIC
(D) O Address Proof (Chosen Option)
BEISEEILRE] (Chosen Option)

Question No. 9 / Question ID 409 Marks: 2.00
Which of the following is a formal introduction in a job interview?
fafafed & § oF A1 i<l Ae@R H Siuenie (Bidd) uRed g2
(A) O "Hi, whats your name?"
"8, 3MTUDT =19 HT 52"
(B) O "hello.. You can start the interview!"
"gal... 3T S & HR Jhd g!"
(C) O "Good morning. Thank you for the opportunity.” (Correct Alternative)
"JUHT, 3R ¢ & foIT <=aa1g 1" (Correct Alternative)
(D) O "Hey, nice to meet you!" (Chosen Option)
"8, '@:Iﬁ TR 3f=st T (Chosen Option)

Question No. 10 / Question ID 530 Marks: 2.00




For career growth and we need to build
HRRAMYAR_~ Hfusd SR Pioede
A) O sustalnablllty, new skills (Correct Alternative)

TR, A¢ DI (Correct Alternative)
(B) O skills, sustainability

DI, RITIE
(C) O sustainability, dams

RAE, S
(D) O skills, bridges (Chosen Option)

forst (Chosen Option)
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Question No. 11 / Question ID 546 Marks: 2.00
is always doing our work with dedication with our best.
&1 AAAS § U HTH FHR TR T SR Jadd dRidb I HRAT
(A) O Reliability

(B) O Honesty

(C) © Commitment (Correct Alternative)
T (Correct Alternative)
(D) O Self management (Chosen Option)
/@ (Chosen Option)

Question No. 12 / Question ID 439 Marks: 2.00
is a time when you, your family, and your teacher meet and interact to understand and support
each other better.

IE T BT § SId 3T, 3MTUehT URAR 3R 31U e Th gaR ®I 98k &7 I JHgH 3R

T B & forg firerd § ok aTiid v B
(A) O Family tour

[
(B) O Family meeting (Chosen Option)

(Chosen Option)
(C) O Family engagement (Correct Alternative)
(Correct Alternative)

(D) O Family income

SIhH

Question No. 13 / Question ID 382 Marks: 2.00
Complete the sentence with suitable describing words
There is a playground near our house.
UG U eql F ITH T X |
There is a playground near our house.

(A) O big (Correct Alternative)
big (Correct Alternative)
(B) O spacious
spacious
(C) O beautiful
beautiful

(D) O good (Chosen Option)
good (Chosen Option)




Question No. 14 / Question ID 621 Marks
When presenting your business plan to a potential investor, you should be clea\Ad¥MV . [Ob ﬂtl org
it Q¢RI Sd%ex & AHA 3UHT fool9 WH URgd R THA 3BT o IR F ¥ gIHT1 A1igy
(A) O investment, expected customers, potential earnings (Correct Alternative) (Chosen Option)
fra=r, sruféra urew®, JHIfAT HHTS (Correct Alternative) (Chosen Option)
(B) O staff strength
SHHARAT BT AT
(C) O bank loan
% aH
(D) O expected profit
3{Uf&rd &y

Question No. 15/ Question ID 587 Marks: 2.00

Your community wants to reduce plastic waste. How can you use design thinking to find new ideas to
solve this problem?

3T TG WIRCH SHUTRIY DI HH ST dTedl ¢ | T THW B 86 B & 107¢ T faaR @ioH & fag
31y fEes RifdsT o1 SUART H8 HR Fohd 872
(A) O Make more things with plastic because they're easy to use (Chosen Option)
T 31 el FTE Sifas ITehT IUTNT AT 3T 8IdT § (Chosen Option)
(B) O Ignore the problem because it's too difficult to solve

I IR & 7 3P Rl 34 § b1 9gd Hio 8

(C) O Work together with shops or people nearby to find ways to use less plastic (Correct
Alternative)

WIRe® BT HH START HIA & dRib Wi & [ GBI AT - & AR & J1Y fass
FTH FID (Correct Alternative)

(D) O Blame others for the plastic waste issue

D e & He, & [T G DI Y GebR

Question No. 16 / Question ID 528 Marks: 2.00
You have an Instagram page for jewellery business. What should you do to connect with viewers?
3T TR STV TG & [T Ueh SXCRIH Ul § | 3T GR(P! I JS o fo1e a1 =1 1fgu?

(A) O Post cooking videos

W IHH & STl URE D

(B) O Share daily updates about your business as Stories on social media (Correct Alternative)
(Chosen Option)

Hifear R WY & FUH v AT & IR A AP 3ruSe AW HIP (Correct

Alternative) (Chosen Option)
(C) O Post dance reels
Y I U b
(D) O Post about a T.V. show you like
3{TU] GG {1 ared éﬁ?ﬂ M &b IR H URS HIh

Question No. 17 / Question ID 387 Marks: 2.00

Complete the sentence with suitable describing words
There is water scarcity in the locality. The area is
IFId IUHTED sa! I AR T PN |
There is water scarcity in the locality. The area is
(A) O uneven

uneven




(B) O noisy
noisy

(C) O boring (Chosen Option)
boring (Chosen Option)

(D) O dry (Correct Alternative)
dry (Correct Alternative)

www.globaliti.org

Question No. 18 / Question ID 456 Marks: 2.00
Which is an example of a self-employment?
WG-ATR BT I&TERUI DI 1 57
(A) O Driving for a taxi company
TP R Hut & fore grgfa
(B) O Teaching subjects or skills as a personal tutor (Correct Alternative)
feard Riere & v # fawal a1 Sl &1 UgHET (Correct Alternative)
(C) O Being a student at a university (Chosen Option)
U fayfaened # U &= §HT (Chosen Option)
(D) © Working full-time at a company
"I DU T R T BT HRAT

Question No. 19 / Question ID 484 Marks: 2.00
Which one is a search engine?

T 39 B9 1372
A) O Hgtmail

(B) O Google (Correct Alternative) (Chosen Option)
T[ITd (Correct Alternative) (Chosen Option)
(C) O Face book

D) O I;Iicker
IPNER

Question No. 20 / Question ID 608 Marks: 2.00
What is full form of GST?
GST &1 Hd WIH &I g2
(A) O Govt. Sales Tax
Govt. Sales Tax
(B) O Goods Sales Tax
Goods Sales Tax
(C) O Goods and Service Tax (Correct Alternative) (Chosen Option)
Goods and Service Tax (Correct Alternative) (Chosen Option)

(D) O Govt. Service Tax
Govt. Service Tax

Question No. 21 / Question ID 493 Marks: 2.00
Which wireless technology standard used for exchanging data between fixed and mobile devices over
short distance?

HH g R R 3R Alezd f$arzq & oia 3¢ &1 MeM-UeH B & AT f5q arRey deb-1d A &
SUIRT faT STl 57
(A) O Router

R[SHX




(B) O CD/DVD

CD/DVD e
©) & Pen diive www.globaliti.org

BEKCIEL]
(D) O Bluetooth (Correct Alternative) (Chosen Option)
&Y (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 575 Marks: 2.00
In an organisation, if all the workers are skilled and systematically working, the organisation will be

forelt SMTTSIRH #, e gt HHaR) B 3R ARG U A BH P IQ & o MBI g
(A) O Confusion
IR
(B) O Loss for the organisation (Chosen Option)
&rﬁ:ﬂ‘g@ﬂiﬂ & foru effa (Chosen Option)
(C) O More output and more profit (Correct Alternative)
3fere 3I3cYc 3R 3 uifthe (Correct Alternative)
(D) O Less work gets done
DTH HH GRT

Question No. 23 / Question ID 461 Marks: 2.00
Some one plans to move to a different city for work, should
DIg Afdd HH & Y TAR ER A S B! JIoT o1 we A
(A) O Ask money from relatives and friends.
r2deRT 3R SRl § U9 9ivH =T
B) O AppIy for loan in bank.

H U1 F T 3mde w31 =gy

(C) O Find how much it will cost to travel and live there; earn and save. (Correct Alternative)

ST & a8t e #eA 3iR Y8 | ford=m @t Sma; aﬁaﬁ'\f@ammﬂ(mrrect

Alternative)
(D) O Move to new place and search for job. (Chosen Option)
TS S8 TR ST 3fR It o1 TaT=T ST A1eY (Chosen Option)

Question No. 24 / Question ID 477 Marks: 2.00
Suggestlon for green practices in the office canteen is
# 17 Ufaey &1 gama

(A) O Delivering food in plastic packaging.

wWiRed Tobfor § HRAT
(B) O Providing lunch to the staff in disposable plates.

T D fSTSiad wicl § QU ol HIH IUds B
(C) O Using steel plates and cups. (Correct Alternative)

3R BY BT ST BT (Correct Alternative)
(D) O Serve green vegetables. (Chosen Option)
gfeoraT RIgAT (Chosen Option)

Question No. 25 / Question ID 616 Marks: 2.00
Imagine you are setting up a mobile repair shop. Which of the following is the most important for its
success?

Wﬁ%%mwwﬁﬁmﬁﬁq@a@%sﬂﬁmﬁm%mm@aﬁﬁﬁqmm




Picking the right shop name

WIAAH TG www.globaliti.org
Putting up flyers in the neighbourhood

A-US H T T

Offering repair services at a higher price

31/ P TR TR YdTE Ua™ HAT

Setting up the shop in a busy area (Correct Alternative) (Chosen Option)
g W A T T (Correct Alternative) (Chosen Option)




